# WATERKLOOF GOLF CLUB MEMBERSHIPS

OUR MEMBERSHIP YEAR IS FROM JANUARY TO DECEMBER 2025

CONTACT US FOR A PRO RATA QUOTE: members@waterkloofgolf.co.za

FEW THINGS TO CONSIDER WHEN DECIDING ON YOUR MEMBERSHIP TYPE.

When will you mostly be playing?

Weekdays: Weekday Membership

Weekdays & Sundays: Six Day Membership

Weekdays & Weekend: Full Membership

Full Time Student under 24 years: Student Membership

18 years & Younger: Scholar Membership

In which age category do you fit?



### JANUARY - DECEMBER 2025 MEMBERSHIP FEES

	ENTRANCE	SUBSCRIPTION	AFFILIATION FEE	HANDICAP	TOTAL FEE
Full Lady 19 - 34*	R 2000	R 3980	R 660	R 250	R 6890
Full Lady 35 - 59*	R 2000	R 7220	R 660	R 250	R 10130
Full Lady Pensioner 60+*	R 2000	R 5100	R 660	R 250	R 8010
Full Male 19 -34*	R 2000	R 6130	R 660	R 250	R 9040
Full Male 35 -59*	R 2000	R 11040	R 660	R 250	R 13950
Full Male Pensioner 60+*	R 2000	R 7860	R 660	R 250	R 10770
Six Day 19 - 34	R 2000	R 3920	R 660	R 250	R 6830
Six Day 35 - 59	R 2000	R 7120	R 660	R 250	R 10030
Six Day Pensioner 60+	R 2000	R 5030	R 660	R 250	R 7940
Weekday 19 - 34	R 2000	R 2630	R 660	R 250	R 5540
Weekday 35 -59	R 2000	R 4770	R 660	R 250	R 7680
Weekday Pensioner 60+	R 2000	R 3360	R 660	R 250	R 6270
Scholar (under 18)			R 140	R 250	R 390
Full Student 19 - 24*	R 2000	R 2210	R 660	R 250	R 5120

### **Discount on uninterrupted Membership**

20 Years - 15%

25 Years - 20%

30+ Years - 25%

As above & 75 Years old you get 100% off on Subs

\*Please note that all Full Male, Full Lady, and Full Student memberships are subject to an interview process for approval before proceeding with the membership application.



### **FAMILY MEMBERSHIP**

All family members must be Waterkloof Golf Club Members

- Main Member to join at standard membership fee
- 10% discount on the subscription fees of the cheapest golf membership option (excl. Primary Member and Scholar Members)
- Spouses can also join as a Social Member
   \*T&C's Apply

SOCIAL MEMBERSHIP R490 Per Calendar Year

Discount on Venues at Waterkloof Golf Club

Discount on purchases at our Pro Shop, Bar and Halfway House

Gate entry hassle-free experience

\*Does not include golf handicap or affiliation







### **DRIVING RANGE**

(PAYABLE AT THE DRIVING RANGE / PRO SHOP)

R30 - 20 Balls

R40 - 30 Balls

R55 - 45 Balls

R80 - 75 Balls

- Waterkloof Golf Club Members pay R240 per month and get 3000 balls per month
- Non-Members pay R475 per month and get 3000 balls per month

### **DRIVING RANGE TIMES**

(subject to change)

### **SUMMER**

Mon - Sat: 06:00 - 19:00

Sundays: 07:00 - 18:00

### **WINTER**

Mon - Sat: 07:00 - 18:00

Sunday: 07:00 - 17:00





### JANUARY - DECEMBER 2025 PRE-PAID ROUNDS

\*Kindly be aware that pre-paid rounds will expire on December 31st of each year.

#### **FULL MEMBER PRE-PAID ROUNDS**

Available only to Full Members
Valid from 1 January - 31 December 2025

20 Rounds @ R 168 = R 3360

40 Rounds @ R 162.75 = R 6510

60 Rounds @ R 152.25 = R 9135

#### SCHOLAR PRE-PAID ROUNDS

Available only to Scholar Members

Valid from 1 January - 31 December 2025

50 Rounds @ R 5.25 = R 263

75 Rounds @ R 4.20 = R 315

Unlimited Rounds = R370

Pre-paid rounds on this package excludes Wednesday PM, Saturdays & Public Holidays where normal green fees apply.

### WEEKDAY MEMBERS PRE-PAID ROUNDS

Available only to Weekday Members
Valid from 1 January - 31 December 2025
20 Rounds @ R 189 = R 3780
40 Round @ R 183.75 = R 7350

60 Rounds @ R 173.25 = R 10395

Pre-paid rounds on this package excludes Wednesday PM, Saturdays, Sundays & Public Holidays where normal green fees apply.

#### STUDENT PRE-PAID ROUNDS

Available only to Student Members Valid from 1 January - 31 December 2025

50 Rounds @ R21 = R 1050

75 Rounds @ R 16 = R 1200

Unlimited rounds = R 1280

Pre-paid rounds on this package excludes Wednesday PM, Saturdays & Public Holidays where normal green fees apply.

#### SIX DAY MEMBERS PRE-PAID ROUNDS

Available only to Six Day Members
Valid from 1 January - 31 December 2025

20 Rounds @ R 178.50 = R 3570

40 Rounds @ R 173.25 = R 6930

60 Round @ R 162.75 = R 9765

Pre-paid rounds on this package excludes Wednesday PM, Saturdays & Public Holidays where normal green fees apply.



## JANUARY - DECEMBER 2025 GREEN FEES

The state of the s	9 HOLES	18 HOLES
FULL MEMBERS	D 140	D 200
Weekdays	R 140 R 150	R 200 R 220
Weekends & Public Holidays	K 190	R 220
SIX DAY MEMBERS		
Weekdays	R 140	R 200
Saturdays	R 310	R 480
Sundays	R 150	R 220
Public Holidays	R 160	R 230
WEEKDAY MEMBERS		
Weekdays	R 140	R 200
Weekends	R 310	R 480
Public Holidays	R 160	R 230
PENSIONERS FULL MEMBERS	R 80	R 120
Weekdays AM (Before 8 am)	R 130	R 190
Weekdays PM Weekends	R 140	R 210
PENSIONERS SIXDAYS MEMBERS	R 80	R 120
Weekdays AM (Before 8 am)	R 130	R 190
Weekdays PM Saturdays	R 240	R 360
Sundays	R 140	R 210
Public Holidays	R 150	R 220
PENSIONERS WEEKDAY MEMBERS		
Weekdays AM (Before 8 AM)	R 80	R 120
Weekdays PM	R 130	R 190
Weekends	R 240	R 360
Public Holidays	R 150	R 220
STUDENT MEMBERS		
Weekdays (EXCL. Wednesday PM)	R 40	R 70
Wednesday PM	R 110	R 140
Saturdays	R 140	R 210
Sundays Public Holidays	R 40	R 70
	R 120	R 180
SCHOLAR MEMBERS Weekdays (FX) Wednesday PM)	R 30	R 50
Weekdays (EXL. Wednesday PM) Wednesday PM	R 80	R 120
Saturdays	R 140	R 210
Sundays	R 30	R 50
Public Holidays	R 120	R 180
Golf Carts for Members	R 165	R 330
Golf Trolleys	R 60	R 60

## JANUARY - DECEMBER 2025 GREEN FEES

AFFILIATED MOITODO (MEN O LADIES)	9 HOLES	18 HOLES
AFFILIATED VISITORS (MEN & LADIES)		
Monday, Tuesday & Wednesday AM	R 160	R 240
Wednesday PM	R 320	R 390
Thursday & Friday	R 240	R 360
Weekends & Public Holidays	R 310	R 480
AFFILIATED PENSIONERS		
Monday - Friday AM (Before 8 AM)	R 130	R 180
Monday & Tuesday PM	R 150	R 230
Wednesday PM	R 300	R 370
Thursday & Friday PM	R 230	R 350
Weekends & Public Holidays	R 300	R 460
NON-AFFILIATED VISITORS (MEN & LADIES)		
Monday, Tuesday & Wednesday AM	R 220	R 330
Wednesday PM	R 400	R 620
Thursday & Friday	R 290	R 440
Weekends & Public Holidays	R 400	R 620
NON-AFFILIATED PENSIONERS	R 140	R 220
Monday - Friday AM (Before 8 AM)	R 200	R 300
Monday & Tuesday PM	R 360	R 570
Wednesday PM	R 260	R 400
Thursday & Friday PM Weekends & Public Holidays	R 360	R 570
Weekerius & Fubile Hollidays		
STUDENT VISITORS		
Weekdays (EXCL. Wednesday PM)	R 130	R 200
Weekends, Public Holidays & Wednesday PM	R 190	R 300
SCHOLAR VISITORS	D 400	B-170
Weekdays (EXCL. Wednesday PM)	R 120	R 170
Weekends, Public Holidays & Wednesday PM	R 190	R 300
Golf Carts for Visitors	R 270	R 450

**COMPETITION FEE (Members & Visitors)** 

Wednesdays, Saturdays & Public Holidays: R50

